27630-01 F Ok | wBsh A |, NRS , 849 , DIN ISO 12240-1

RUH

@ 7
frei

STAINLESS STEEL *j‘*;l_ :

BIETEN 1.4057 HFEHE,
ZELAITELIER 1.4034 BRFEET
AN 1.4571 Sl

I

KZHHLIE,

BR:

TEELBHARET . EZERITXIR DIN 648 X R 5 Ko

K
DH7
N
1—f |
\ 1
|
o Y b1
L
Bi e
] / i
@ —|\ n >* — X— 8 ]
A
L1
27630-01-05 AHEIRS 27 [18] 4 | 5 M5x0,8 85 |11 8 6 11,11 10 36 |13| 9 57 6
27630-01-06 AHKEMEE 30 (20| 5 | 6 M6x1,0 10 |13 9| 6,75 12,7 12 40 [13] 11 7,2 7,65
27630-01-08 FHERY 36 (24| 5 | 8 M8x1,25 12,5116 12| 9 15,875 |16 48 |14| 14 11,6 12,9
27630-01-10 HHEIRS 43 [28]6,5(10 M10x1,5 15 |19 14| 10,5 19,05 |20 57 [13| 17 14,5 18
27630-01-10125 AKEMREL 43 [28]6,5|10 M10x1,25 15 |19 14| 10,5 19,05 (20 57 |13| 17 14,5 18
27630-01-12 AHEES 50 [32]6,5(12 M12x1,75 17,5 122 16| 12 22,225 |22 66 [13] 19 17 24
27630-01-12125 AHEMEL 50 [32]6,5|12 M12x1,25 17,5 |22 16| 12 22,225 |22 66 |13| 19 17 24
27630-01-16 HEERY 64 (42| 8 |16 M16x2,0 22 |27 21| 15 28,575 |28 85 (15| 22 28,5 39
27630-01-1615 AREIRS 64 [42] 8 |16 M16x1,5 22 |27 21| 15 28,575 |28 85 |15| 22 28,5 39
27630-01-20 AKEMRE 77 [50] 10 |20 M20x1,5 27,5 |34 25| 18 34,925 |33 102 |14 | 30 42,5 57
27630-01-22 AHEI2LL 84 |54 12 |22 M22x1,5 30 |38 28| 20 38,10 |37 111 (15| 32 57 68
27630-01-25 AHKEIELL 91 [60] 12 |25 M24x2,0 335 (42 31| 22 42,86 (42 124 |15| 36 68 85
27630-01-30 HEEEL 110 |70| 15 |30 M30x2,0 40 |50 37| 25 50,8 51 145 17| 41 88 114
27630-01-051 EREYEL 27 (18] 4 | 5 M5x0,8 85 |11 8 6 11,11 10 36 |13| 9 57 6
27630-01-061 EHRESREL 30 (20| 5 | 6 M6x1,0 10 |13 9| 6,75 12,7 12 40 [13] 11 7,2 7,65
27630-01-081 IEREIELS 36 (24| 5 | 8 M8x1,25 125|116 12| 9 15,875 |16 48 |14| 14 11,6 12,9
27630-01-101 EREIRL 43 |28(6,5(10 M10x1,5 15 |19 14| 10,5 19,05 (20 57 (13| 17 14,5 18
27630-01-101251 EREIRS 43 |28]6,5(10 M10x1,25 15 |19 14| 10,5 19,05 |20 57 13| 17 14,5 18
27630-01-121 EREYES 50 (326,512 M12x1,75 17,5 122 16| 12 22,225 |22 66 |13| 19 17 24

© norelem www.norelem.com



27630-01 Fo#Esk | wBsh A , NIEL , 448 , DIN ISO 12240-1

RUEH

27630-01-121251 6,5 M12x1,25 17,5 22,225
27630-01-161 ERESRY 64 |42| 8 |16 M16x2,0 22 |27 21| 15 28,575 |28 85 |15| 22 28,5 39
27630-01-16151 EHEIRY 64 [42] 8 |16 M16x1,5 22 |27 21| 15 28,575 |28 85 |15] 22 28,5 39
27630-01-201 ERESRL 77 [50| 10 |20 M20x1,5 275134 25| 18 34,925 |33 102 |14| 30 42,5 57
27630-01-221 EHEIRY 84 |54| 12 |22 M22x1,5 30 |38 28| 20 38,10 |37 111 |15| 32 57 68
27630-01-251 EREIRL 91 [60] 12 |25 M24x2,0 33,6 |42 31| 22 42,86 |42 124 |15| 36 68 85
27630-01-301 ERESRL 110 70| 15 |30 M30x2,0 40 |50 37| 25 50,8 |51 145|17| 41 88 114

© norelem www.norelem.com



